

ABC Bid Data

MANCHESTER-PEMBROKE

44069

X-A005(329)

PROJECT: MANCHESTER-PEMBROKE

STATE PROJECT NUMBER: 44069

FED. PROJECT NUMBER: X-A005(329)

DATE BIDS OPEN: November 02, 2023,

SCOPE OF WORK: Resurfacfing one section of US Route 3/NH Route 28

COMPLETION DATE: September 27, 2024

LOCATION: Merrimack, Hillsborough, District 5

Awarded To: CONTINENTAL PAVING INC

1 CONTINENTAL DRIVE LONDONDERRY, NH 03053

Amount: \$5,907,585.85

Award Date:

Certified by: WILLIAM.J.OLDENBURG

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
CONTINENTAL PAVING INC	\$5,907,585.85	А
1 CONTINENTAL DRIVE, LONDONDERRY NH 03053		
PIKE INDUSTRIES, INC.	\$6,415,594.72	В
O EACTOATE DADIC DOAD, DELMONTANI COCCO		

3 EASTGATE PARK ROAD, BELMONT NH 03220

ABC Bid Data



MANCHESTER-PEMBROKE 44069 X-A005(329)

					F	PS&E	1 CONTIN	AL PAVING INC ENTAL DRIVE ERRY, NH 03053	3 EASTGAT	ISTRIES, INC. E PARK ROAD T, NH 03220
Iten	n No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

	DEMOVAL OF OUR PROVIDE	I.F.	1 4 4 4 5 5	20.05	040.450.40	40.00	440,000,00	20.00	\$40,007.50
202.7	REMOVAL OF GUARDRAIL	LF	4,312.50	\$3.05	\$13,153.13	\$3.20	\$13,800.00	\$3.00	\$12,937.50
203.5561	EAGRT PLATFORM PREFERRED	U	10.00	\$1,750.00	\$17,500.00	\$1,600.00	\$16,000.00	\$1,650.00	\$16,500.00
206.1	COMMON STRUCTURE EXCAVATION	CY	13.00	\$125.00	\$1,625.00	\$200.00	\$2,600.00	\$1,200.00	\$15,600.00
304.301	CRUSHED GRAVEL	CY	13.08	\$70.00	\$915.60	\$200.00	\$2,616.00	\$350.00	\$4,578.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	1,541.00	\$33.55	\$51,700.55	\$25.00	\$38,525.00	\$40.00	\$61,640.00
403.11023	HBP-3/4" BINDER MIX, MACHINE METHOD	TON	913.00	\$84.25	\$76,920.25	\$85.79	\$78,326.27	\$105.00	\$95,865.00
403.11922	HBP-3/4" BINDER MIX, MACHINE METHOD, HIGH STRENGTH, QC/QA TIER 2	TON	9,530.00	\$88.00	\$838,640.00	\$95.79	\$912,878.70	\$98.00	\$933,940.00
403.11942	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH, QC/QA TIER 2	TON	19,668.00	\$94.00	\$1,848,792.00	\$103.49	\$2,035,441.32	\$100.00	\$1,966,800.00
403.12	HBP-HAND METHOD	TON	576.00	\$200.00	\$115,200.00	\$180.00	\$103,680.00	\$250.00	\$144,000.00
403.16	PAVEMENT JOINT ADHESIVE	LF	141,372.00	\$0.33	\$46,652.76	\$0.35	\$49,480.20	\$0.50	\$70,686.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	29,197.70	\$3.00	\$87,593.10	\$2.50	\$72,994.25	\$3.00	\$87,593.10
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	14,346.00	\$5.00	\$71,730.00	\$5.00	\$71,730.00	\$5.00	\$71,730.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	3,464.00	\$89.50	\$310,028.00	\$90.00	\$311,760.00	\$100.00	\$346,400.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	166,595.00	\$2.62	\$436,478.90	\$2.50	\$416,487.50	\$3.25	\$541,433.75
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	11,340.00	\$2.62	\$29,710.80	\$4.00	\$45,360.00	\$2.00	\$22,680.00
604.0007	POLYETHYLENE LINER	EA	104.00	\$155.00	\$16,120.00	\$140.00	\$14,560.00	\$160.00	\$16,640.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	84.00	\$550.00	\$46,200.00	\$600.00	\$50,400.00	\$800.00	\$67,200.00
604.72	GRATES & FRAMES, TYPE B	EA	20.00	\$730.00	\$14,600.00	\$800.00	\$16,000.00	\$800.00	\$16,000.00
606.0122	W6X9 STEEL POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	13.00	\$22.00	\$286.00	\$24.75	\$321.75	\$35.00	\$455.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	10.00	\$4,400.00	\$44,000.00	\$5,225.00	\$52,250.00	\$3,850.00	\$38,500.00
606.1471	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (MASH MID-SPLICE)	U	2.00	\$1,654.30	\$3,308.60	\$1,595.00	\$3,190.00	\$1,750.00	\$3,500.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	3,812.50	\$34.00	\$129,625.00	\$34.40	\$131,150.00	\$29.00	\$110,562.50
606.34201	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, LEFT (STEEL POST)	U	2.00	\$1,100.00	\$2,200.00	\$1,347.50	\$2,695.00	\$1,400.00	\$2,800.00

ABC Bid Data



MANCHESTER-PEMBROKE 44069 X-A005(329)

					PS&E		TAL PAVING INC IENTAL DRIVE ERRY, NH 03053	PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
606.34202	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, RIGHT (STEEL POST)	U	2.00	\$1,100.00	\$2,200.00	\$1,347.50	\$2,695.00	\$1,400.00	\$2,800.00
608.2401	4" CONCRETE SIDEWALK	SY	118.00	\$85.00	\$10,030.00	\$85.00	\$10,030.00	\$100.00	\$11,800.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	11.34	\$470.00	\$5,329.80	\$300.00	\$3,402.00	\$450.00	\$5,103.00
609.5	RESET GRANITE CURB	LF	197.90	\$25.00	\$4,947.50	\$100.00	\$19,790.00	\$35.00	\$6,926.50
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	3,005.63	\$7.75	\$23,293.63	\$5.50	\$16,530.97	\$10.00	\$30,056.30
616.191	ALTERATIONS TO TRAFFIC SIGNALS	U	1.00	\$23,000.00	\$23,000.00	\$26,620.00	\$26,620.00	\$32,000.00	\$32,000.00
616.606	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 6 FT	EA	6.00	\$950.00	\$5,700.00	\$935.00	\$5,610.00	\$700.00	\$4,200.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	90.00	\$1,900.00	\$171,000.00	\$1,265.00	\$113,850.00	\$1,200.00	\$108,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	143,850.00	\$1.00	\$143,850.00	\$1.00	\$143,850.00	\$1.00	\$143,850.00
618.7	FLAGGERS	HR	4,110.00	\$50.00	\$205,500.00	\$53.35	\$219,268.50	\$52.00	\$213,720.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$200,000.00	\$200,000.00	\$150,000.00	\$150,000.00	\$300,000.00	\$300,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$2,000.00	\$4,000.00	\$5,000.00	\$10,000.00	\$4,500.00	\$9,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$3,000.00	\$6,000.00	\$5,000.00	\$10,000.00	\$4,500.00	\$9,000.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$12,000.00	\$24,000.00	\$10,000.00	\$20,000.00	\$15,000.00	\$30,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	72.00	\$7.00	\$504.00	\$9.35	\$673.20	\$7.50	\$540.00
621.31	SINGLE DELINEATOR WITH POST	EA	74.00	\$55.00	\$4,070.00	\$60.50	\$4,477.00	\$60.00	\$4,440.00
621.32	DOUBLE DELINEATOR WITH POST	EA	12.00	\$65.00	\$780.00	\$71.50	\$858.00	\$65.00	\$780.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	262.00	\$5.25	\$1,375.50	\$10.00	\$2,620.00	\$15.00	\$3,930.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	432,000.00	\$0.20	\$86,400.00	\$0.22	\$95,040.00	\$0.20	\$86,400.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	9,516.88	\$1.58	\$15,036.67	\$3.00	\$28,550.64	\$1.20	\$11,420.26
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	1,018.00	\$6.25	\$6,362.50	\$10.00	\$10,180.00	\$4.50	\$4,581.00
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	9,516.88	\$1.67	\$15,893.19	\$2.20	\$20,937.14	\$2.00	\$19,033.76
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	720.00	\$1.82	\$1,310.40	\$3.30	\$2,376.00	\$3.00	\$2,160.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18"	LF	1,018.00	\$7.00	\$7,126.00	\$6.60	\$6,718.80	\$6.25	\$6,362.50
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	3,337.00	\$8.30	\$27,697.10	\$9.35	\$31,200.95	\$8.70	\$29,031.90
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	1,183.00	\$6.00	\$7,098.00	\$5.50	\$6,506.50	\$5.00	\$5,915.00

New Hampshive Department of Transportation

ABC Bid Data

MANCHESTER-PEMBROKE 44069

X-A005(329)

					PS&E		TAL PAVING INC IENTAL DRIVE ERRY, NH 03053	PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
645.531	SILT FENCE	LF	1,183.00	\$5.00	\$5,915.00	\$3.30	\$3,903.90	\$2.00	\$2,366.00
645.611	BONDED FIBER MATRIX (BFM)	LB	1,559.00	\$2.25	\$3,507.75	\$4.40	\$6,859.60	\$1.95	\$3,040.05
646.21	TURF ESTABLISHMENT WITHOUT MULCH	SY	2,515.60	\$0.41	\$1,031.40	\$1.10	\$2,767.16	\$1.00	\$2,515.60
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	26.10	\$13.00	\$339.30	\$25.00	\$652.50	\$100.00	\$2,610.00
692.	MOBILIZATION	U	1.00	\$237,400.00	\$237,400.00	\$150,000.00	\$150,000.00	\$335,000.00	\$335,000.00
698.13	FIELD OFFICE TYPE C	MON	8.00	\$1,750.00	\$14,000.00	\$3,000.00	\$24,000.00	\$3,200.00	\$25,600.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	6,000.00	\$1.00	\$6,000.00	\$1.00	\$6,000.00	\$1.00	\$6,000.00
1010.15	FUEL ADJUSTMENT	\$	70,000.00	\$1.00	\$70,000.00	\$1.00	\$70,000.00	\$1.00	\$70,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	134,372.00	\$1.00	\$134,372.00	\$1.00	\$134,372.00	\$1.00	\$134,372.00
		Totals:		\$5,783,049,43		\$5,907,585,85		\$6,415,594,72	

Totals: \$5,783,049.43 \$5,907,585.85 \$6,415,594.72

Alt. Totals: \$5,783,049.43 \$5,907,585.85 \$6,415,594.72



MANCHESTER-PEMBROKE 44069 X-A005(329)

		1		A-Bid	der	PS	\$Е	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
202.7	REMOVAL OF GUARDRAIL	LF	4,312.50	\$3.20	\$13,800.00	\$3.05	\$13,153.13	\$646.87
203.5561	EAGRT PLATFORM PREFERRED	U	10.00	\$1,600.00	\$16,000.00	\$1,750.00	\$17,500.00	(\$1,500.00)
206.1	COMMON STRUCTURE EXCAVATION	CY	13.00	\$200.00	\$2,600.00	\$125.00	\$1,625.00	\$975.00
304.301	CRUSHED GRAVEL	CY	13.08	\$200.00	\$2,616.00	\$70.00	\$915.60	\$1,700.40
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	1,541.00	\$25.00	\$38,525.00	\$33.55	\$51,700.55	(\$13,175.55)
403.11023	HBP-3/4" BINDER MIX, MACHINE METHOD	TON	913.00	\$85.79	\$78,326.27	\$84.25	\$76,920.25	\$1,406.02
403.11922	HBP-3/4" BINDER MIX, MACHINE METHOD, HIGH STRENGTH, QC/QA TIER 2	TON	9,530.00	\$95.79	\$912,878.70	\$88.00	\$838,640.00	\$74,238.70
403.11942	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH, QC/QA TIER 2	TON	19,668.00	\$103.49	\$2,035,441.32	\$94.00	\$1,848,792.00	\$186,649.32
403.12	HBP-HAND METHOD	TON	576.00	\$180.00	\$103,680.00	\$200.00	\$115,200.00	(\$11,520.00)
403.16	PAVEMENT JOINT ADHESIVE	LF	141,372.00	\$0.35	\$49,480.20	\$0.33	\$46,652.76	\$2,827.44
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	29,197.70	\$2.50	\$72,994.25	\$3.00	\$87,593.10	(\$14,598.85)
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	14,346.00	\$5.00	\$71,730.00	\$5.00	\$71,730.00	\$0.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	3,464.00	\$90.00	\$311,760.00	\$89.50	\$310,028.00	\$1,732.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	166,595.00	\$2.50	\$416,487.50	\$2.62	\$436,478.90	(\$19,991.40)



MANCHESTER-PEMBROKE 44069 X-A005(329)

		-	_	A-Bide	idder PS&E			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	11,340.00	\$4.00	\$45,360.00	\$2.62	\$29,710.80	\$15,649.20
604.0007	POLYETHYLENE LINER	EA	104.00	\$140.00	\$14,560.00	\$155.00	\$16,120.00	(\$1,560.00)
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	84.00	\$600.00	\$50,400.00	\$550.00	\$46,200.00	\$4,200.00
604.72	GRATES & FRAMES, TYPE B	EA	20.00	\$800.00	\$16,000.00	\$730.00	\$14,600.00	\$1,400.00
606.0122	W6X9 STEEL POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	13.00	\$24.75	\$321.75	\$22.00	\$286.00	\$35.75
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	10.00	\$5,225.00	\$52,250.00	\$4,400.00	\$44,000.00	\$8,250.00
606.1471	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (MASH MID-SPLICE)	U	2.00	\$1,595.00	\$3,190.00	\$1,654.30	\$3,308.60	(\$118.60)
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	3,812.50	\$34.40	\$131,150.00	\$34.00	\$129,625.00	\$1,525.00
606.34201	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, LEFT (STEEL POST)	U	2.00	\$1,347.50	\$2,695.00	\$1,100.00	\$2,200.00	\$495.00
606.34202	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, RIGHT (STEEL POST)	U	2.00	\$1,347.50	\$2,695.00	\$1,100.00	\$2,200.00	\$495.00
608.2401	4" CONCRETE SIDEWALK	SY	118.00	\$85.00	\$10,030.00	\$85.00	\$10,030.00	\$0.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	11.34	\$300.00	\$3,402.00	\$470.00	\$5,329.80	(\$1,927.80)
609.5	RESET GRANITE CURB	LF	197.90	\$100.00	\$19,790.00	\$25.00	\$4,947.50	\$14,842.50
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	3,005.63	\$5.50	\$16,530.97	\$7.75	\$23,293.63	(\$6,762.66)
616.191	ALTERATIONS TO TRAFFIC SIGNALS	U	1.00	\$26,620.00	\$26,620.00	\$23,000.00	\$23,000.00	\$3,620.00

Monday, November 27, 2023 Page 6 of 9



MANCHESTER-PEMBROKE 44069 X-A005(329)

				A-Bido	der	PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
616.606	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 6 FT	EA	6.00	\$935.00	\$5,610.00	\$950.00	\$5,700.00	(\$90.00)
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	90.00	\$1,265.00	\$113,850.00	\$1,900.00	\$171,000.00	(\$57,150.00)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	143,850.00	\$1.00	\$143,850.00	\$1.00	\$143,850.00	\$0.00
618.7	FLAGGERS	HR	4,110.00	\$53.35	\$219,268.50	\$50.00	\$205,500.00	\$13,768.50
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$150,000.00	\$150,000.00	\$200,000.00	\$200,000.00	(\$50,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$5,000.00	\$10,000.00	\$2,000.00	\$4,000.00	\$6,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$5,000.00	\$10,000.00	\$3,000.00	\$6,000.00	\$4,000.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$10,000.00	\$20,000.00	\$12,000.00	\$24,000.00	(\$4,000.00)
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	72.00	\$9.35	\$673.20	\$7.00	\$504.00	\$169.20
621.31	SINGLE DELINEATOR WITH POST	EA	74.00	\$60.50	\$4,477.00	\$55.00	\$4,070.00	\$407.00
621.32	DOUBLE DELINEATOR WITH POST	EA	12.00	\$71.50	\$858.00	\$65.00	\$780.00	\$78.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	262.00	\$10.00	\$2,620.00	\$5.25	\$1,375.50	\$1,244.50
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	432,000.00	\$0.22	\$95,040.00	\$0.20	\$86,400.00	\$8,640.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	<u></u>	9,516.88	\$3.00	\$28,550.64	\$1.58	\$15,036.67	\$13,513.97
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	1,018.00	\$10.00	\$10,180.00	\$6.25	\$6,362.50	\$3,817.50
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	9,516.88	\$2.20	\$20,937.14	\$1.67	\$15,893.19	\$5,043.95

Monday, November 27, 2023 Page 7 of 9



MANCHESTER-PEMBROKE 44069 X-A005(329)

				A-Bidd	der	PS8	ķΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	720.00	\$3.30	\$2,376.00	\$1.82	\$1,310.40	\$1,065.60
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	1,018.00	\$6.60	\$6,718.80	\$7.00	\$7,126.00	(\$407.20)
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	3,337.00	\$9.35	\$31,200.95	\$8.30	\$27,697.10	\$3,503.85
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	1,183.00	\$5.50	\$6,506.50	\$6.00	\$7,098.00	(\$591.50)
645.531	SILT FENCE	LF	1,183.00	\$3.30	\$3,903.90	\$5.00	\$5,915.00	(\$2,011.10)
645.611	BONDED FIBER MATRIX (BFM)	LB	1,559.00	\$4.40	\$6,859.60	\$2.25	\$3,507.75	\$3,351.85
646.21	TURF ESTABLISHMENT WITHOUT MULCH	SY	2,515.60	\$1.10	\$2,767.16	\$0.41	\$1,031.40	\$1,735.76
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	26.10	\$25.00	\$652.50	\$13.00	\$339.30	\$313.20
692.	MOBILIZATION	U	1.00	\$150,000.00	\$150,000.00	\$237,400.00	\$237,400.00	(\$87,400.00)
698.13	FIELD OFFICE TYPE C	MON	8.00	\$3,000.00	\$24,000.00	\$1,750.00	\$14,000.00	\$10,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	6,000.00	\$1.00	\$6,000.00	\$1.00	\$6,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	70,000.00	\$1.00	\$70,000.00	\$1.00	\$70,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	134,372.00	\$1.00	\$134,372.00	\$1.00	\$134,372.00	\$0.00

Monday, November 27, 2023 Page 8 of 9

Total: \$5,907,585.85 \$5,783,049.43 \$124,536.42

Monday, November 27, 2023 Page 9 of 9